Standard Chemistry

March Examination

Answer the following problems, documenting your solution using nouns, verbs, and –ly words.

1. Balance the following skeleton equations:

a) Cl2 + NaI ( NaCl + I2
b) Ag2O ( Ag + O2
c) 2Ba(ClO3)2 ( 3BaCl2 + O2
d) SbCl3 + Na2S ( Sb2S3 + NaCl

e) N2O5 + B2O3 + H2O ( B3N3H6 + O2
2. Classify the five reactions above.

3. How many moles are involved in the reaction from 1e above?
4. In the reaction below how much energy will be liberated when 2 moles of NO2 react?
CO(g) + NO2(g) ( CO2(g) + NO(g) + 226 kj

5. Is the reaction in question 4 endothermic or exothermic?

6. Give the electron configuration for Nickel. 
7. Given the equation Kr + F2 ( KrF6, how many moles of fluorine are required to produce 3.0 moles of krypton hexafluoride?
8. How many grams of CO2 can be produced from 25.0 moles of C10H8?

C10H8 + O2 ( CO2 + H2O

9. How many grams of ammonia can be produced when 20.0 g of Mg3N2 and 20.0 g of H2O are reacted?

Mg3N2 + H2O ( Mg(OH)2 + NH3
10. If 14.0 g of C2H4 is reacted, and the actual yield of H2O is 7.84 g, what is the percent yield?
C2H4 + O2 ( CO2 + H2O

11. If you get 21 slices of bun in a package and 11 meat patties in one package, how many packs of buns will you buy? How many packs of meat would you then buy? How many Big Macs can you make? What is the limiting agent? What is in excess?  
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